@ -1 +1) @ (x+1)%(x-1)
® (x=1)(x+1) @ (x-1)°
® (x+1)3

B -x+1l=xx-1)-(x-1)
=(x-1)(x*-1)
— (- 12+ 1)

Lf) =(x-1D)(%-1) = (x—1)3%(x+1)
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(¥ +x)(x* + x+1) - 65 A5-EoloHH?

@(x—l)(x+2)(x2+x+3) @ (x-1)(x+2)(x* +x-3)

@ x=-2)x+1)(*+x+3) @ (x-1)(x+2)(x*-x+3)

® (x+1)(x-2)(x-x+3)

@

+x = X2} 5pAk
(% ) =X(X+1)-6

=X2+X-6

=(X+3)(X-2)

=(x+x+3)(x*+x-2)
=(x-1)(x+2)(x*+x+3)




¥ —4x® +x+ 62 AFEAMNHH (x+a)(x+b)(x+c) ©It}. a®+b* +c?
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~&B

flx)=x3—4x*> + x+ 60|22,
x=-19d, -1-4-14+6=0

TebA, £t (x+ 1) thire] BolAith
%, f(x)= (x+1)9 9545 2=t

= f(x) = (x+1)2(x) =

O(x) = THAR o2 S5t}

-1]1 -4 1 6
-1 5 -6
1 5 6] 0

f(x) = (x> =5x+6)(x+1)
f() (x=3)(x-2)(x+1)
a?+b?+c* = (-3 +(-2)+12=14




THHA] a2 4 x—2, $34+2x2—3x 9] WIS G(x), HABH5E

2w, G2) + L(2) o & o

=

@1 @ 11 ® 21 @ 31 ®)41

~&B

P +x-2=((x+2)(x-1)

¥ +2x2-3x=x(x-1)(x+3)

LGx)=x-1
Lx)=x(x-1)(x+2)(x+3)

L G(2)+L(2) =1+440=41
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